dormakabar«

G-EMR-140°

Montageanleitung / mounting instructions

C

G-EMR DCW° 23
Art. Nr. 640703xx

G-EMR 230v AC

Art. Nr. 640700xx

WN 059028 45532

230 V AC

e e

LL-020T 'TESSY 900650 NM-0%70%L0

G/00 d0d

G-€

00
™|

900¢:0v¥/200¢°TV/L66T:GGTT N3

09-92000-4dJ-¢€v0

T [8[€| 10-8002:£€9%¥T N3 NIQ

0

|eedauul 962 85
T Zield YINYOQ
HqWs puejyasinag eqexewsop

)

|eedauul 962 85
T Z3eld YINYOd
Hqws puejyasnag eqeyewsiop




o

@)
<
N
¥
>
H
O




_ isERe _m_

G-EMR-140°




G-EMR-140°

230 VAC




G-EMR-140°

¥ Spax 5x60
M5x50

. %
y Spax 4,5x45
M5x40

Spax 5x60 R,

7)) S
= :
Spax 4,545 % M5x50
M5x40 2




G-EMR-140°

230V AC

230 VAC

w
I_PN

8

odo

c

<<

230V




G-EMR-140°

IR
R
—

.@@




G-EMR-140°

QQQ0000
Q0000
QQQ00
Q000
Q

@2130u 3noy3Im abupyd 03 309lgng
us3|pyaqgion usbunispuy

dormakaba Deutschland GmbH DORMA Platz1 58256 ENNEPETAL Tel. +49 2333 793-0 Fax +49 2333 793-4950

www.dormakaba.com



